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¥ ZE A A DESoJHo) to]H AF F A A

1. dlole &X]7]

7t Boz A /MY E + VM8

O STATA

use "d:\NaSTaB06P.dta", clear
rename hid06 hid
sort hid

save "d:\al.dta", replace

use "d:\NaSTaB06H.dta", clear
rename hid06 hid
sort hid

save "d:\a2.dta", replace

use "d:\al.dta", clear
merge hid using "d:\a2.dta"

save "d:\a3.dta", replace

tab _merge

/* 6AFAE 71 HlolE 7%/

/* key W W W7 hid0eol Al hid*/
/* key W A/

/* al Hl|°o]E A7/

/* 6xPA%E 7HT HlolE &7/

/* key W5 W WA hid06o A hid*/
/* key W AH*/

/* a2 HloE A%/

/* al Hlo|gl |a7]*/
/* a2 ©lolE] 7}E W +/
/* al¥} a2 7}2 W3 ol ad.dta HloJE|E A/

/8% A% Bl

O SPSS

get file="d:\NaSTaB06P.sav".
dataset name al window=front.
rename variables (hid06=hid).
sort cases by hid.
save out ='d:\al.sav’

compressed.

get file="d:\NaSTaBO6H.sav".
dataset name a2.
rename variables (hid06=hid).
sort cases by hid.
save out ='d:\a2.sav’.

dataset active al.

match files /file=*
/table="a2"
/by hid.
save out ='d:\a3.sav’.

/* 62PAE 71 dlolE |47/
W W7 hid06ol A hid*/

/* al= HoJE] A7/

/* 62Pd % 7H HlolE] @7/
4 W4 WA ¢ hido6oll Al hid*/
/* key W AE*/
/* a2. 2 HoJE] A%/
/* al HolE] 4r]*/

/* a2sh Fo2 Ay

/* al¥ a2 FTOo2 AT tolH a3= AHA*/

.-Gl)f AREHATH
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O SAS

libname nastab "d:\";

data nastab.al;
set nastab.nastab06p;
rename hid06=hid; run;

data nastab.a2;
set nastab.nastab06h;
rename hid06=hid; run;

proc sort data=nastab.al;
by hid; run;

proc sort data=nastab.a2;
by hid; run;

data nastab.a3;

merge nastab.al nastab.a2; by hid; run;

/* nastab ZhelB.g] AYAd*/

/* El°lE] al A4d*/

/* 62 % 7H- HlolE] &r]r/

/* key ¥ ¥ W7 : hid06oll Al hid*/
/* ElolE] a2 AAd*/

/¥ 62X 71 HlolEl Er*/

/* key W W WA hid06o) A hid*/
/* al Hl°lH key W AE*/

/* a2 Hlo|H key W BE*/

/* HlolE a3 AAd*/
/* ald a2 Fo 7 AT} */

U o= Adg: 78 + 78

O STATA

use "d:\NaSTaB05H.dta", clear
rename hid05 hid
sort hid

save "d:\bl.dta", replace

use "d:\NaSTaB06H.dta", clear
rename hid06 hid
sort hid

save "d:\b2.dta", replace

use "d:\bl.dta", clear
merge hid using "d:\b2.dta"
save "d:\b3.dta", replace

/* 52PAE 7+ HlolE |7]*/

/* key M4 W5 M hid05o A hid*/
/* key W AE*/

/* bl TlolE] A7/

/* 6APA= 7 Hloly dr1/

/* key W5~ ¥4 WA : hid06olA] hid*/
/* key W AE*/

/* b2 dlog A/

/* bl Hlolg &7]*/
/* b2 "ol 7h= Wt/
/* bl3} b2 7+2 W83 HolE ad.dta HOJEE A/

tab _merge /* W3 Ay Bo)x/

.-Gl)f AREHATH
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O SPSS

get file="d:\NaSTaB05H.sav".
dataset name bl
rename variables (hid05=hid).
sort cases by hid.
save out ='d:\bl.sav’

compressed.

get file="d:\NaSTaBO6H.sav".
dataset name b2.
rename variables (hid06=hid).
sort cases by hid.

save out ='d:\b2.sav’.

dataset active bl.

match files /file=*
/table="b2"
/by hid.
save out ='d:\b3.sav’.

/* SAPAE 7kt ElolE a7/
W M7 hid05ol A hid*/

/* b1= HoJE] A3*/

/* 63 = 71T FjolE] L7/
W2 97 : hidoeel A hid*/
/* b2 HelEl A/

/* bl dlolg |7]*/
/* b8} To= Aj/

/* bl b2 FOo2 AR HoJE b3= A7/

O SAS

libname nastab "d:\";

data nastab.bl;
set nastab.nastabO5h;
rename hid05=hid; run;

data nastab.b2;
set nastab.nastab06h;
rename hid06=hid; run;

proc sort data=nastab.bl;
by hid; run;

proc sort data=nastab.b2;
by hid; run;

data nastab.b3;
merge nastab.bl nastab.b2; by hid; run;

/* nastab 2}o] B g] AYA*/

/* dolEl bl AAd*/

/* 5XPA% 71 HolE dr)*/

/* key W5 8™ WA 1 hid05el A hid*/
/* HlelE b2 A/

/* 6XPA% 71 HolE dr)*/

/* key B ¥4 WA : hid0eol| A hid*/
/* b1 ElolE] key W5 A/

/* b2 FlolE] key W HE/

/* Hl°l8 b3 7%/
/* 13 b2 o= AT *+/
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O o= 8% 8 + S

O STATA

use "d:\NasTaB05H.dta", clear /* 5APAE 7H- ol &7/
keep hid05 h05ba001 h05ba002 h05ba003 /* W3 WS4 & T2 W 2hAx/
gen time=2012 /* Z2AF AR 201288 WS4 A/
rename hid05 hid J* e W HAr/

rename h05ba001 ba001
rename h05ba002 ba002
rename h05ba003 ba003

save "d:\cl.dta", replace /* c1Z2 "ol A A/

use "d:\NasTaBO6H.dta", clear /* 62 % 7+ HlolE &7/
keep hid06 h06ba001 h06ba002 h06ba003 /* M3+ W4 9 thE WS 2bA*/
gen time=2013 /¥ 2AF AR 20139 WS4 AYA*/
rename hid06 hid /¥ W W A

rename h06ba001 ba001
rename h06ba002 ba002
rename h06ba003 ba003

save "d:\c2.dta", replace /* 22 dlo|y A A*/
use "d:\cl.dta", clear /* cl "lolg &7]*/
append using "d:\c2.dta" /* 29f Fo= Ajbr/
save "d:\c3.dta", replace /* cl3 2 Aoz AFS Holy 32 AA*/
O SPSS
get file="d:\NaSTaB05H.sav" /* 5AAE 71 HlolE |dr)*/

/keep=hid05 h05ba001 h05ba002 h05ba003 /* WE W 9 o2 H4 2HAx/
/rename=(hid05 h05ba001 h05ba002 h05ba003=hid ba001 ba002 ba003). /* W4 ¥ HA*/
dataset name c1.

compute time=2012. /¥ 2AF A 20123 W A/
save out ='d:\cl.sav’. /* c1Z dlo]y A A*/
get file="d:\NaSTaB06H.sav" /¥ 6ZXPAE TH Holy |7/

/keep=hid06 h06ba001 h06ba002 h06ba003 /* WE W 9 thE H4 2HA*/
/rename=(hid06 h06ba001 h06ba002 h06ba003=hid ba001 ba002 ba003). /* W ™ H7A*/
dataset name c2.

compute time=2013. /¥ 2AF A= 2013 WA AAE/
save out ='d:\c2.sav’. /* 22 dlo|y A A*/
A=)
= Kipf ez 427
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i
dataset active c1. /* cl Hlolg E7|*/
add files /file=* J* 29F o= AjH/
Jfile='c2.

save out ='d:\c3.sav’. /¥ 13 2 oz A3 Holy 32 A/
O SAS
libname nastab "d:\"; /* nastab 2ol B g AYAd*/
data nastab.cl; /* dlolE 1 A/

set nastab.nastab05h; /* 5APA % 71 HlolE] |r)*/

time=2012 /* Z2AFEE 2012d W A/

keep hid05 h05ba001 h05ba002 h05ba003; /* W& W4 9] ThE W4 Abar

rename hid05=hid; /* g WA/

rename h05ba001=ba001;
rename h05ba002=ba002;
rename h05ba003=ba003; run;

data nastab.c2; /* Hlole 2 YA/
set nastab.nastab06h; /* 62Pd% 71 HlolE Er)*/
keep hid06 h06ba001 h06ba002 h06ba003; /* W& W= 9] Th W4 2bA)/
time=2013 /* FAF AE 2013 WS AAE/
rename hid06=hid; /¥ W AR

rename h06ba001=ba001;
rename h06ba002=ba002;
rename h06ba003=ba003; run;

data nastab.c3; /* HlolE 3 A/
set nastab.cl nastab.c2; run; /¥l 2 o Z Agp/
W ez 5
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|
2. TEHE
7t 74 Eolg g Tt AR S
O STATA
use "d:\NaSTaB06H.dta", clear /* 62PA % 71 Hloly E7|*/
/¥ TR pid, AdEd, A, ZHEeke] B W T BRE 2 HEE Y
reshape long hpid0 w06byr0 w06gen0 wO6rel0 , ithid06) j(num)
rename hpid0 pid06 /¥ AT W WA/
sort pid06 /* key W AEr/
keep pid06 hid06 w06byr0 w06gen0 wo6rel0 num /*7T-ZHE Wy & Wy 2 9]*/
drop if pid06==. /* key W AZA] A/
save "d:\long.dta", replace /* TEHS A longCE A4/
O SPSS
get file="d:\NaSTaB06H.sav". /* 62PA % 71 Hloly E7)*/
dataset name long. /* HlolEl 9 long 278*/
/¥ TR pid, A, A, el #A M VY BRE = HEE
varstocases
/make pid06 from hpid01 hpid02 hpid03 hpid04 hpid0S hpid06 hpid07 hpid08
hpid09

/make wo06gen from w06gen01 w06gen02 w06gen03 w06gen04 w06gen05 w06gen(06
w06gen07 w06gen08 w06gen09

/make wo6rel from wO06rel01 w06rel02 w06rel03 w06rel04 w06rel05 w06rel06 w06rel07
wO06rel08 w06rel09

/index=index1(9)

/keep=hid06

/null =keep .

select if pid06~=sysmis(pid06). /* key W AZA] A&/

save out ='d:\long.sav’. /*297cases. /* 7=X¥3 A3} long HlolE A/

L Kipf or=z4o7a 6
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O SAS

/* nastab ZhelB.g] AYAd*/

libname nastab "d:\";

/* dlol¥ long A8/3*/
/* 6ZPA% 71 HlolE E7]*/

data nastab.long;
set nastab.nastab06h;

array a[9] w06byr01-w06byr(09;
array b[9] w06gen01-w06gen(9;
array c[9] w06rel01-w06rel09;
array d[9] hpid01-hpid09;

[*EAEE A5 Ay
/48 W g Aty

[V RFske] A WS W Al
/ALY A i Hdey

/*1~99¥ 7hd AH 2 id/
w06byr=a[num]; w06gen=a[num]; wO6érel=a[num]; hpid=a[num];
if hpid ne . then output; end; /* key W ASA] A Q*/

keep hid06 num hpid w06byr; run;, /*7-ZHS HEF 9 HEF A9/

do num=1 to 9;

. 7H Hlolg e J AR g

O STATA

use "d:\NaSTaB06P.dta", clear

keep pid06 hid06 ps06a04 p06bbO02

/* 62PAE 71 HlolE |ar]*/
[*TEHE W & " A9/

/* T-Z¥3 : pid, p06bb002 W& 7FFERIRE F2 W3 */
reshape wide pid06 p06bb002 , i( hid06) j(ps06a04)

sort hid06

save "d:\wide.dta", replace

/* key Wi AHE*/
/* F2HE A7} wide dlolE A7/

O SPSS

get file="d:\NaSTaB06P.sav" /¥ 6APAE 71 HlolE] &)Y/
/keep=pid06 hid06 ps06a04 p06bb002. /*FZHI WG & W5 A Q*/

/*dlo]E wide AA*./

/* key W AEr/

dataset name wide.

sort cases by hid06 ps06a04.
/¥ TS VR R S wgk Y
casestovars

/1d=hid06

/index=ps06a04

/count=num "3 74"

save out ='d:\wide.sav’. /* T3 A3 wide do]E] AR/
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O SAS

data nastab.wide/* Bl|°]E wide AJAd*/
(keep= hid06 pid061-pid069 ps06a04 p06aa0011-p06aal019 p06aa0021-p06aa0029);
/* TZW3E : pid, p06bb002 WS~ 7H1 92 F2 WS

19 ~9H 7ol sl ZH2 dlole 8] ¥ key ¥R hid06 7|Eo= 3oz AP/
merge
nastab.nastabO6p
(rename=(pid06 =pid061 p06aal01=p06aa0011 p06aa002=p06aa0021) where=(psO6al4=1))
nastab.nastabO6p
(rename=(pid06 =pid062 p06aa001=p06aal012 p06aa002=p06aa0022) where=(ps06a04=2))
nastab.nastabO6p
(rename=(pid06 =pid063 p06aa001=p06aal013 p06aa002=p06aa0023) where=(ps06a04=3))
nastab.nastabO6p
(rename=(pid06 =pid064 p06aa001=p06aa0014 p06aa002=p06aa0024) where=(ps06a04=4))
nastab.nastab06p
(rename=(pid06 =pid065 p06aa001=p06aa0015 p06aa002=p06aa0025) where=(ps06a04=>5))
nastab.nastabO6p
(rename=(pid06 =pid066 p06aa001=p06aa0016 p06aal02=p06aa0026) where=(ps06a04=6))
nastab.nastab06p
(rename=(pid06 =pid067 p06aa001=p06aa0017 p06aa002=p06aa0027) where=(ps06a04=7))
nastab.nastab06p
(rename=(pid06 =pid068 p06aa001=p06aal018 p06aa002=p06aa0028) where=(ps06a04=8))
nastab.nastabO6p
(rename=(pid06 =pid069 p06aa001=p06aal019 p06aa002=p06aa0029) where=(ps06a04=9))
; by hid06; run;

L Kipf or=z4o7a 8
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3. 712 A &4

O STATA

/*7 2 TAZFAE/

use "d:\al.dta", clear
sum h06ca004 [iweight=h06cwt] /*h06ca004 H+, &4t Hdighk HAagk/
sum h06ca004 [aweight=hO6cwt] , d /*h06ca004 &3 7}% 7<] aweightAH-8+/

[FBES] A/
sort h06ca004
pctile  h06ca004pct = h06ca004 [aweight=hO6cwt], nq(5)
list h06caO04pct in 1/5
RIS A/
use "d:\NaSTaB06P.dta", clear
tab p06aa005
tab p06aa006 [iweight=pO6cwt]
tab p06aal05 p06aal06 [iweight=pO6cwt]

O SPSS

JNE SAREE : B, A, D2/
dataset active al.
weight by hO6cwt.
des h06ca004
/stat=mean min max .
[¥71% BAZFANE - SER/
fre h06ca004
/stat=median
/format=notable.
weight off.
/] E
rank ps06al3 (a)
/ntiles(5)
/ties=mean.

O SAS

/* 'lc:)] :,q.’ }.‘7:1)1\- 1:1 3% /

proc univariate data=nastab.nastabO6h; var h06ca004; weight hO6cwt; run;
/5 N B

proc freq data=nastab.nastabO6h; table W06gen01; run;

proc freq data=nastab.nastabO6h; weight hObcwt; table p06aa005; run;

proc freq data=nastab.nastab06h; weight hObcwt; table p06aa005 * pP06aal06;

run;

- Ll s 9
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4. 32 dlolg] &4 (STATA)

O 3 tlolE= %7

/*Append*/
use "d:\NasTaBO05HPanel.dta", clear

save "d:\NasTaBHPanel.dta", replace

/*Panel Data setting*/
use "d:\NasTaBHPanel.dta", clear

by hid, sort: gen time=_n
xtset hid time
xtdes

/BAAE ZH Hloly &7/

append using "d:\NasTaBO6HPanel.dta" /*6xPd% 7} HlolE Fo&2 A/

/*ZA3} NasTaBHPanel 2 #7*/

/DA ZH Hloly &7/

/eyt AE, A Wg A
/*key ¥ hid, time W= Id HoJ8] A/
/*3'2 wlol¥ description*/

% NasTaB05HPanel/NasTaB06HPanel Ho|El= L3 AI4H-& 2155 H4H-& A4S A4

o W B4

[N Z2TAE A/
xtsum x
xttab x

/*Analysis : y=a'8,i=12.Nt=12.7 */
xtreg y x, fe

estimate store fe

xtreg y X, re

estimate store re

hausman fe re, sigmamore

/*Fixed Effect Model*/

/*Fixed Effect Model 23} A7/
/*Random Effect Model*/

/*Random Effect Model A3 A4 */
/*Hausman Test*/

L Kipf sr=zaaea
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